Q

THKERIEICEAT HERAETEIEFR D FRIE)

xiE  BR.LER

BERABEZRDIESE SUERIh D ARIR

& A F 5 145BN0878

5] it £ 5 /iR

it = ih BN IRIER TN /IR
ROE O B L iRELE KA

1/25, 000

A8% 350 1] (s=1:200,000) 13 & X (s=1:25,000)

= L #th ¥ERE 0D E Fih 21200000 — B8 | B O EF 1t F2 K] 25000 BE TR, A B 1ZEE HFE



REMBLOFEREXENE

HBA3—1 BEDETNDHLH L, = %Lb\f"—:':—d)a*a%hd)%é:tﬂﬂd) %7 X

EEEEEE 20244/

Z 18 31 I 0 1 &5 Bmas 145BN0878 | BB SR | FifEsh

B EEZIYON

m

EOEENDHHIHDKE
r———1%LDFE®&%h®5éim®Eﬁ

M RIER

TREDBEHIZLDHHI100kN/ MEIBZ B EiH
1 *tTRS0HESNImEZEZS5H

EHFIR

l



RO IR R R E

HBR3—2 BEMIERIIEEESNIERICEHIIEE REEE 20244/
RO NEs | Bmes T755N0878 Bm% | TR S R L YN
) SENMO TiRICHEET S SfERHA
ﬁ%&g TREOBBOESILADKRES TREDOHEBSSLODKRES TREOBBOEILADKRES TREDHFESSLNIDOKRES
= = DV B DV Al = = BV = DV = =
&= X 4 .Z,na!)r -Fiﬁﬁb(:)a)ﬂﬁﬁﬁ jj(giff)é X 4 ‘Finﬁﬁgggiki .z,n-f jj(gzicr:é)é X 4 .(Er,na; J:mﬁb(z)ott.a jj(gi;cn%é X 4 Llﬁﬁf)(z)@ttﬁ ?né){ jj(ﬁzcrié
; 100kN/mM##BZ % — - ~ — —|3mZEEBZ 5 -~ — — — | 100kN/mMZE#BZ % — - ~ — —|3mEBZB -~ — — —
ZThLS 1.001 000 ~ 4.77 59.46 | TILS | 0.00 ~ 0.00)|1.70 9.12 Th LSt 1.00|5.00 ~ 5.00 59.46 | TS | 500 ~ 500|170 912
2 100kN/mM#%# 8% % — -~ — — |3m%E#BZ % - ~ — — — | 100kN/mM%# %% — - ~ — —|3mz#BZD -~ — — —
Th LS 1.001000 ~ 513 63.91 | #hust | 0.00 ~ 0.00| 1.69 9.07 Zh LS 1.00| 500 ~ 550 63.91 | Fhst | 500 ~ 550 | 1.69 9.07
3 100kN/mM#%# 8% % — -~ — — |3m%E#BZ % - ~ — — — | 100kN/mM%# %% — - ~ — —|3mz#BZD -~ — — —
Th LS 1.00 1000 ~ 520 64.83 | #Fhust | 0.00 ~ 0.00|1.70 9.10 Zh LS 1.00| 500 ~ 560 64.83 | FhLs | 500 ~ 560|170 9.10
4 100kN/mM#%# 8% % — -~ — — |3m%E#BZ % - ~ — — — | 100kN/M%# %% — - ~ — —|3mE#BZD -~ — — —
Th LS 1.00 1000 ~ 520 64.83 | #Fhust | 0.00 ~ 0.00|1.70 9.10 Zh LS 1.00| 500 ~ 560 64.83 | FhLs | 500 ~ 560|170 9.10
5 100kN/mM#%# 8% % — -~ — — |3m%E#BZ % - ~ — — — | 100kN/M%# %% — - ~ — —|3mE#BZD -~ — — —
Th LS 1.00 1000 ~ 530 66.10 | Fhust | 0.00 ~ 0.00| 1.60 8.59 Zh LS 1.00| 500 ~ 6.00 66.10 | Ths | 500 ~ 6.00| 1.60 8.59
6 100kN/mM#%# 8% % — -~ — — |3m%E#BZ % - ~ — — — | 100kN/M%# %% — - ~ — —|3mE#BZD -~ — — —
Thsh 1.001 000 ~ 4.77 59.41 | Thes | 000 ~ 4.77|1.76 9.40 ZhLlst 1.00| 500 ~ 5.00 59.41 | Thes | 500 ~ 500|176 9.40
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Thsh ~ Zhs ~ zhLlst ~ ThLs ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Thsh ~ Zhs ~ ZhLlst ~ Ths ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Thsh ~ Zhs ~ ZhLlst ~ Ths ~
100kN/mM##BZ 5 ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
Thsh ~ Zhs ~ ZhLlst ~ Ths ~
100kN/mM#%#BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZhLsh ~ ZhLs ~ ZhLst ~ ZThst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZhLsh ~ ZhLs ~ ZhLst ~ ZThst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZhLs ~ ZhLs ~ ZhLst ~ ZThst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
ZhLs ~ Zhs ~ ZhLst ~ ZThst ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
ZhLs ~ ZHhLUS ~ ZhList ~ Zhst ~

B
H
&



